Environment 2: Goal 1

Robot Robot Robot Robot Robot

Human: Can you pass me the red key? . . . .
t=1 t=12 t =20 t =28 t =42

Human Inferences (Actions & Instructions)
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Human Inferences (Actions Only)
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Model Inferences (Actions Only)
1.0 ] 1 ] B e e e e e e B —
t=1 't=12 't = 20 't = 28 === 't = 42
-
: : : -—-="" :
= I I I R :
— 1 | | -
ig()S : _ e e -4) = - = = . — = SRR -|(b—- — :
o) - o = - — [ ! !
DL_ -l m = = = - 1 | 1 I
T = | | ! !
- oy @ | 1 1
" mm g, I I I I
—
N n L ) — . I I I I
| [ o

10 20 30 40 50



